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Comparison with data sheet
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Source_amp1_3
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Cut condition
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Waveform and Time
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Waveform and Time
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Time Resolution
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Fitting Results(5cm)
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Time resolution
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Fitting Results(cm)
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Time resolution
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Attenuation length



Histogram 1
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Histogram 2
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Source_amp1_4
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Fitting
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Landau convoluted Gaussian
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L H| 8f3F 452 mm &0 12/20/35 cm

ADCsum_hist0_0 ADCsum_hist1_0 ADCsum_hist2_0
ADCsum_hist0 0 ADCsum_hist1 0 ADCsum_hist2_0
Entries 10000 Entries 10000 Entries 10000
Mean 2999 Mean 3245 Mean 3732
Std Dev 3817 Std Dev 4345 Std Dev 4895
2001 #* / ndf 247 /269 2001 *? / ndf 274.3/306 200+ ¥2 / ndf 298.2 /301
width 252+255 width 308.5 + 32.5 width 2744 + 411
MPV 6915 £ 45.0 MPV 7977 + 46.8 MPV 9210 £ 65.0
normalization_factor 1.222e+05 + 2.128e+03 normalization_factor 1.137e+05 + 2.157e+03 normalization_factor  1.157e+05 + 2.228e+03
1001 sigma_gaussian 1116 = 40.4 1001 sigma_gaussian 11794 51.0 100 sigma_gaussian 1446 + 53.4

L |
0 5000 10000 15000 0 5000 10000 15000 0 5000 10000 15000

ADCsum_hist0_1 ADCsum_hist1_1 ADCsum_hist2_1
ADCsum_hist0_1 ADCsum_hist1_1 ADCsum_hist2_1
Entries 10000 Entries 10000 Entries 10000
L 4001
400 Mean 3694 Mean 3419 400 Mean 3584
Std Dev 4703 Std Dev 4567 S:d Dev 4689
300 2 300~ 2 / ndf 263.7 /284 %"/l 287.31 287
¥/ ndf 303 /290 A 300 .
. width 299.7 + 326
width 2832+ 319 wictth 2481308 MPV 87414 40.2
200+ MPV 8701+ 50.4 200~ MPV o 6565+ 424 200 normalization_factor 1.176e+05 + 2.132e+03
normalization_factor 1.20864+05 < 2.1866+03 normalization_factor 1.144e+05 + 2.100e+03 sigma_gaussian 1212 + 47.7
100+ sigma_gaussian 1255 + 46.8 100l sigma_gaussian 1235 + 44.3 100
O | | 0 | | | O | | |
0 5000 10000 15000 0 5000 10000 15000 0 5000 10000 15000



Attenuation length

Attenuation length for MPPC with Aluminum box
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